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- interest rate = 0
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.
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⑦ a. The bond trades at a premium since

coupon rate > YTM.
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The new bond price is $1
,
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.
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,
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,
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Bond price after coupon =
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,
068 . 02

=> Price before compon = 1
,
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,
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⑥ You needdo sed the compon rate equal
to the YTM of the existing bonds.
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The YTM = 2 .50x2 = 5%, which should

also be the coupon role so the new bonds

are issuedot per
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Bond Price = $861
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New bond price = $887. 61

CHPR = /876+25 - 1.1%

I'm squering the gooss redorn to

express the rede
per year compounded

annually



⑳
Economy Prob

.
YTM Price HPR

Boom 0
. 2 11 % P74

.
05 - 17

.95%

Normal 0
.
5 8 % 5) 100 . 00 8%

Recession 0
. 3 7/ $112. 28 20 . 28%
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.
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Ta = (10) M = 9.33
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B = 0 . 08 x930 + 0
. 08x850 + 0
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+ 1
.
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Fina = (( . 0933(4)43 - 1 =

9
.

93 %

1. 0753

d. The bond trades for $985
,

but it's

worth $960
·

Sell the bond to receive

$985
,

and boy 8% of 24 , 8% of z(2),

6 % of E (3) and 100% of 24) which

will cost $960. You make an instant

profit of $25 per
trade.
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z(2) =H = $841.

z(3)= $793. 3
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.
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. 20 x (1 + Fraz) = 1

.
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10092 (1 + F21) = 1

.

0g3
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6
.

03 %
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1
.
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.
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2
.
Yes

,

there is an arbitrage opportunity.

Sell 0
.
085 z()

,
0 .
085z(2) and

1 . 085 E(3) and collect $1
,
010 .

12.

Use $1 , 000 to purchase the bond

You mathe $10
. 12 per

trade .

⑪ a

T 2 F DCF weight

5 10 10

1 . 085

30 25S
1
. of

30

PV = $9 .29

D =
5 x 0

.7326 + 30 + 0
.
2674 = 11

. 69 years .

b
. Zero-compon bond with meturity 11

.
69 years

and fore value 9
.29x ( . 08)" 69 = $22 . 54

million

c
. If rades are 9%, the toro compon

bond is worth

22 .84

1
.
0941 . 69

=
$8 .
34 million

whereas the fiability is worth



= $8 . 38 million

The not position is

8 .34 - 8 . 38 = -10 .
04 million.

⑫ a.

T 2 F DCF weight

18 20 2
=
$11 . 168 47

.

24 ./
1
.06'

40
= $12. 472 52

.
76%

20 40 1
. 062

PV = $23 . 648

D = 0 . 4724 + 10 + 0 . 5276 x20 = 15
. 276 years.

b
.

You would boy a zero - Loopon
bond

with maturity 15
.
276 years and face

value 23
.

64 + 1
.

0615 . 276 = $57
.
573 million .

c
.

5 W5 + 30Wao = 5(6-Was) + 30 Was = 15.276

Was = 41
.

10% and W5 = 58
. 90%

This
, you

should invest

0
. 5890 x 23 . 64 = $13 . 924 in Bj

0 . 4110 x 23
.
64 = $9

. 716 in Bao
.


